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Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of
one mark each and Part — B contains 15 questions oftwo marks each. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. Allthe answers should be marked only on the OMR sheet provided and only with
a black or biue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.
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PART-A
gen- @

Answerall questions. Each question carries 1 mark. (1x40=40)
A FIron evgon. T3 HIiwom 2080,

1. Which of the following is not a primary pollutant ?

a) SO, b) Volcanicash

c) Oy d) CO,

3 BENSINTY, IRV TFR0ETN TORE BRdF T0rmNe,?

a) SO, b) 2, e&000D R0
c) Og d) CO,

2. The earth originated

a) 4.6 billion yrs. b) 8.5 billion yrs.

¢) 2.6 billion yrs. d) 1.3 billion yrs.

00010 BHIIPED),

a) 4.6 VOO WRFNY &OT b) 8.5 H0R* SR oot
C) 2.6 ROCHT® ITF NV 0T d) 1.3 OO SRFNY oo

3. The first formed photosynthetic organisms were

a) Algae b) Cyanobacteria
c) Bryophytes d) Plants

B3 8xlodemiren 30300008 ok HRTO e

a) m;\ b) FSnermsr0odn
c) wodRegEr d) Rgnsd
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4. The scientifically suggested reason for the extinction of dinosaurs is
a) volcanic eruptions
b) massive storm
c) massive asteroid hit
d) massive flood
dRreRornd oSN ReBONTIT TR PE FTTCND
a) 23 oPTENDCD BRTBATNYIE
b) 23030080 WY
c) ooEtmnE BEdERoiE) RN STORT).
d) Hodostma Jm®

5. Soap does not work well with

a) hard water b) light water .
c) heavy water d) softwater

2Re) 83 BENT CINJYTBERES Rowydeon 5o SF RO, ?

a) nemd e b) ®RITT Vet

C) {O0TE Ve d) o Redd

6. Landsat program beganin

a) 1972 b) 2003
c) 1982 d) 1992
ROT AT EyXuaplebupteliAnialasy

a) 1972 b) 2003
c) 1982 d) 1992
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7. Tojoin the internet, the computer has to be connectedtoa
a) internet architecture board
b) internet society
c) internet service provider
d) none of the mentioned

20307200 ﬁoaﬁ’ﬁr% Bomgr Broren Reagoddod @ 8 L] o:tn@d%
dneRieongd ?

a) QoL0 S wrtito’ WetE's
b) roe3orSes Rgjes

C) BOUT I RIFAT FRFEO
d) 8 Soeds oI L,

8. Internet works on
a) Packet switching
b) Circuit switching
c) Both a) and b)
d) None of the mentioned
£30307O OB ) FTODF VIF LR
a) g’ & don”
b) RERFEs® 22300
c) a) &y b) 20@R
d) 81 BoedS cAnRYae B
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9.

10.

Drugis

a) produced by endocrine glands

b) produced by exocrine glands

c) are secreted through pituitary gland

d) externally administered chemical substances
Bol

a) 0rpe IF R oPONT YUBITSIRRYTS

b) 28R €8 3 1oRPOWOT LSTIIRTIYE

C) &0 noRoet BT RRRIE

d) »EEY SmodRE S FesSowos

Lakes and forests are best classified as examples of

a) artificial ecosystem

b) natural ecosystem

c) natural biosphere

d) artificial biosphere

83 3N VI SR eBTEet, BT TRy TN FedId
a) g3 Toxd q,a‘h;

b) §xnegDomc =S

C) JANFE ReITOOD

d) 338 weSTOoD
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11. Copernicus is well known for his contributio

a) Biology b) Physics
¢) Mathematics d) Social Science
BRETRNFER” B3 8¢S, Dean ERBORCTN g&qamnmgé.
a) WS, b) eP3zR,
c) ness d) B3 DR
12. The discovery of ‘Cape of Good Hope’ goes to
a) Columbus b) Vespucci
c) Vagellan d) Bartolomeu Dias
‘Bor BT ROE B B30T 3 e
a) $RVOWE* b) SBR,
c) Snwed’ d) e SRR BOIR
13. Nanoparticles of which substance were found on the su rface of the sword of
Tipu Sultan ?
a) Gold b) Lead
c) Carbon d) Silicon
1), RoeRss DI SoeennI, oo T F TS OIR SR0ROTNG ?
a) w3 b) xed
c) @omee d) A%
14. The size of nanoparticles is between nm.
a) 100 to 1000 b) 0.1t0 10
c) 110100 d) 0.01to1
mﬁaﬁmeﬁwrﬁe} 3D nm 03,
a) 100 0o31000 b) 0.1 810
c) 1060100 d) 0.01 oe31

SN - 714
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15.

16.

17.

Main branch of mathematics is
a) Algebra

c) Statistics

ned3s S0, Boss

a) SUIR,

c) RoamToR,

The only metal in liquid state is

a) iron

c) calcium

SR CRATCOTS t.ote 8.omd Snemsiond
a) B

c) wQodo

Stainless steel is so called because of its

a) High strength

b) High corrosion resistance
¢) High ductility

d) Brittleness

b) Geometry
d) Abacus

b) a0t
d) et

b) mercury
d) magnesium

b) sRcds
d) &Qe&l&bo

'R, TR AT R B TOOm)N, B BROROS SIS,

a) ByYF BN

b) doﬂa &&Q:!Daio&dgt B0 RN

c) Sododnn SRmFEIS rbm:%n
d) Dooygn JHaoinns rbmadn
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UL o SN — 714

18. Layer of atmosphere in which Ozone layer lies is

a) Exosphere b) Mesosphere
¢) Troposphere d) Stratosphere
5 e HE0R) WANI0D TR B4 CilnlolnlJ]a]

a) 28R0IT" b) QoRpeR0IdT*
c) EdReEReRoidT” d) mwaémziodm‘

19. One of the best solutions to get rid of non biodegradable wastes is

a) Burying b) Burning
c) Recycling d) Dumping
B EN LIo et AAL o) F03TROTEO BT U0 RN
a) BRETLNE b) RoExE
c) QIo e d) dorzgonod DI O AL
20. Which state irrigates largest percentage of land ?
a) Haryana b) Utiar Pradesh
c) Maharashtra d) Punjab
g gRdooa) DeooTor WITRATOS TI%,
a) BOOIR b) evgcHTEeS
C) ST, d) Soowr
21. Compound microscope has lens/lenses.
a) 1 b) 2
c)3 d) 4
T0T0E® BYBRERRET SRR/ BRATAYIY HBRODT.
a) 1 b) 2
c) 3 d) 4
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22. The resolving power of unaided human eye is

a) 100 um b) 1000 tm
c) 10um d) 1um
SR, o RTHIROS SRS woneds 38
a) 100 um b) 1000 um
c) 10um d)1um
23. Photograph which is taken from microscope is known as
a) macrograph b) monograph
c) micrograph d) pictograph
mgbmsrsmd 31T ¢RoIRUBRI) B 068 BeveoNT
a) JRBERMF b) Beedpermp®
c) REReF* d) e8eme*
24, Process in which two light nuclei combine to form a heavy nucleus is called
a) fusion reaction b) fission reaction
c) radioactivity d) transmutation

ole) ;:ie% TORRENEl BoodRenSRAcmD 1ot LRTEE HBORPE0SS) Gpbcplaney
gt

a) mocdwezs 80 b) HTeF o

c) WORed HETED d) ToRRew SRTerEINE
25. Genetic improvements in which two crops form the basis of the Green

Revolution

a) Corn and rice b) Wheatand corn

c) Wheatand rice d) Wheat and sorghum

ROTICHRR0R 03753 OB ZPNO BT 59,0800 SEBOIRNE ?

a) o8 wdoed ) g b) Reed &2 03 ey

c) Reed &8 g d) Recd =) tned
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26. Hard water contains the salts of

a) Aluminium b) Carbon
¢) Calcium d) lron
RER) Dedh LERPOBTIR LFeand

a) eacz%me‘aodw b) gormow
c) §,90d0 d) s

27. INTELSAT IV telecommunication satellite has a capacity of handling
a) 1TV channel
b) 2 TV channels
c) 3TV channels
d) 4 TV channels
INTELSAT IV 5328 Bosd8r ¢uamn@s) SN O3 TG F R AR &RLO BFINTE ?
a) 1TV @mae*
b) 2 TV s nisd
¢c) 3TV @3 ned
d) 4 TV 3 nisd

28. Headquarters of ISRO is situated

a) Chandipur b) Chandigarh
c¢) Bengaluru d) Chennai
ISROT Beods, 3eied [VORT

a) BoReHT* b) Wopenz®
¢) Wondedd d) B8,
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29,

30.

31.

Satish Dhawan space centre is situated in

a) Bengaluru b) Ahamedabad
c) Chennai d) Sriharikota
RSeT* T3 Aem* Bokso® _tad

a) Wongno b) emsOmomee
c) zﬁai . d) &ex0BRetm

Remote sensing includes gathering of
a) Images

b) Changes

¢) Movements

d) Sounds

DRReE AQOM* B4 BINST Bor tomgc
a) wInsb

b) woeemERw

¢) @osnsd

d) Bwrisb

Which is the base of scientific development 2

a) Physics b) Chemistry
¢) Engineering d) Mathematics
%m@i BT Fovvw o 2

a) e, b) SRRCHRERR,
C) oIV d) nedzg
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II 32. Principle of laser is

a) Spontaneous absorption b) Simulated emission
é ¢) Induced emission d) Both b) andc)

SRR 2,

a) AORFY B0 b) evdeeds RS

c) Sedeass DRKF d) b) 33, c) 0@®

33, Laser is the short form of
a) light absorption stimulated emission of radiation
b) light amplication by stimulated emission of radiation
c) light amplication stimulated emission of rays
d) light adsorption stimulated rays
FemoT DRJTO Qw0 ot dew
_ a) JeRo” CtRFFT &Meﬁeﬁw QT e Berwodoem®
A b) St o v aR0Seede QROTED* 45 BeRodoeET
c) g5 gogBers’ ARy Seuin’ RS ST SR
d) g BT AR SeinT gex®

34, OFC stands for

a) Optical Fibre Cables b) Optic Forced Cables
c) Optical Forged Cables d) Optical Fibre Can
: BT R DOTT
i a) Bago” o7 Fewer, b) was* Fpeotr* ey,
l| C) waper Ppersty eees d) eFer Foo' NI’
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35. The most energy efficient and environment safe source of light is

36.

37.

38.

a) CFL b) LCD

c) LED d) LPG

€53 08 WOFFORITO o) WORT BOTISY BROOT FIT WY
a) AT TF b) «eran

C) RFBEB d) Qerand

The nearly perfect source of energy is

a) coal
c) petrol

3,08 TOBITFOINRE F§od Toew
a) 398w

c) Jedneer

DNA is not a genetic material in

a) Human
c) Plant

b) natural gas
d) tar

b) RNFEedw
d) no*

b) Virus
d) Animal

B 20T B3 NS 0INJYTTY, 39 s, e,

a) S,
c) &R

DNA stands for

a) Disaccharide Nucleic Acid
¢) Diribose Nuclear Acid
Baa*w (DNA) 2owd

a) Disachharide Nucleic Acid

c) Diribose Nuclear Acid

b) $o=
d) &3

b) Diphenyl Nucleic Acid
d) Deoxyribose Nucleic Acid

b) Diphenyl Nucleic Acid
d) Deoxyribose Nucleic Acid

SPACE FOR ROUGH WORK




0 0 O 15- SN - 714

39. The objectives of experiments include
a) testing hypothesis
b) for supporting and negating theory
¢) for gathering about natural phenomenon
d) all the above
Todnenne wusesy)
a) 8O3 ATROTEI) TOeTOFTNG
b) twomdh 3B Loy %) syndedPmEN
c) §Rnes LT BRI Ror @
d) 3 B0edT 2R,

40. The detailed report of the whole work preparedin a standard format is called
a) research
b) presentation
c) thesis
d) scientific paper
2,003 BRWE, 06300, ATIHART TREOF $oRE HRCTE OO DS
a) Rodregs
b) FRyTHRRDE
c) Jwog
d) P B8

SPACE FOR ROUGH WORK
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PART -B
TN -V

All questions are compulsory.
QR DI EEOD.

41. Match the correct pair.
A) Indian nuclear programme
B) Green revolution
C) Indian monsoon model
D) White revolution

a) A-2, B-3, C-4, D-1
c) A-1,B-3,C-4, D-2

ROOIRT HREBODI), TSR

A) B3¢0t WRRe A3ReES
B) Budb50,08

C) tmod3eads S0orody SREO
D) 3E8®0

a) A-2, B-3, C-4, D-1

c) A-1, B-3,C-4, D-2

42, and

(2x15=

1. M. S. Swaminathan
2. Vasant Gowarikar
3. HomiJ Bhabha
4. Kurien Varghese

b) A-4, B-2,C-1,D-3
d) A-3,B-1,C-2, D-4

1. 20, OF°. T AOTHS
2. SRos* PoPe"T
3. TR B, W

4. 3OO SINeFI*

b) A-4, B-2, C-1, D-3
d) A-3,B-1,C-2,D-4

are two major discoveries of 15" century which

led to expansion of white colonies outside Europe.

a) Mariners compass and telescope
¢) Gun powder and steam engine

15 Se 3ZB0S0 20D F0eD e emBrves

b) Spinning machine and telescope
d) None of the above

o) odndreas

-]

BA0R WPoDH SHBINE LRI TTETOW.

a) moEd ORees o8y BedEBFE obo3

C) AR, o2 n oo,

b) SRV 0o WP BRATEIFE O
d) oeds cinpde v
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43, Match the correct pair.

Diseases Causes
A) Typhoid 1. Pneumococcus
B) Tuberculosis 2. HIV
C) AIDS 3. Mycobacterium
D) Pneumonia 4. Salmonella typhi

a) A-4, B-3, C-2, D-1
b) A-3, B-2, C-4, D-1
¢) A-2,B-4,C-1,D-3
d) A-1,B-3,C-4,D-2

BoC3RT teRadR) MOSFA.

T Epleioryi=a)
A) HTD 863 z-gdd 1. 3nRnednms’
B) godb dwent 2. NFVD
C) o 3. WBnem,seo0l0
D) :Rénesd Gpvislewslnt 4, MBI, By

a) A-4, B-3,C-2, D-1
b) A-3, B-2, C-4, D-1
¢) A-2,B-4,C-1,D-3
d) A-1, B-3,C-4,D-2

44. Photovoltaic energy is the conversion of sunlight into

a) chemical energy b) biogas

c) electricity d) geothermal energy

Roodr S tvdd FpetiRespeRens S§cinn InTFRJTY 81 SINTS BedprdZd
a) ST 33 b) 2§08 Q0T B8

c) HE, d) 2odeepRdore’ 38

SPACE FOR ROUGH WORK
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45, The outermost layer of the earth is

a) Magma b) Mantle

c) Crust d) Solid iron core
RERN0CD 3,08 BRSNS Soewsds

a) SRm b) & oL’

c) 8%, d) OF* RO dneo’

46, LED stands for

a) Laser Emitting Diode b) Light Emitting Diode
c) Light Emitting Device d) Laser Emitting Device
LED w038

a) Laser Emitting Diode b) Light Emitting Diode
¢) Light Emitting Device d) Laser Emitting Device

47. Pradhan Mantri Awaas Yojana of Government of India, is meant for
a) child development
b) house for individual
c) skill development
d) none of the above
P03 BT O BEIRR08 Hesom c3Rezsodn 8 BINS oI DodeexScinid ?
a) Bggensn
b) Feodew) TROEARL BT
c) ¥3e, eep%%
d) 8 Soeds cdRPTEe B,
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48.

49,

Which of the following States in India ranks first in the installation of wind power ?
a) Gujarat

b) Andhra Pradesh

c) Maharashtra

d) Tamil Nadu

TR B0 eRmTS AR, 1Rdds 81 89T odRE Tty ) BATLIDINGS ?

a) rOwos®

b) sog@ded

c) a‘nmcaﬁg

d) SR>

The observed increase in the average temperature of the air near earths surface
and oceans in recent decades

a) environmentchange
b) global warming
c¢) health change

d) none of these

a3eess TS, t3RocD 3y AB0FE SBoedF o0 IRINTE FoRD £z§;ﬁ§
52089

a) JoR- wEREH

b) ondd STRRT By

c) wdner, VRN

d) 33 00T CIRJTR LY,

SPACE FOR ROUGH WORK
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50.

51.

52.

- 714 20 O

Lignite, bituminous, anthracite is the variety of

a) natural gas b) wind
c) petrol d) coal
O}, &7, PRDOTFT, SOTRFET DoL0Ed [ adgoci: dresg
a) FRNFE RO b) m%
c) Jdnee* d) #@.Eiw

BTU is measurement of

a) Volume b) Temperature
c) Area d) Pressure
BTU 2000 aut esidoh Sndsmng

a) mg b) vvemod

c) dyeror d) w3@

Non conventional energy sources are
a) biomass, solar, wind

b) nuclear, coal, petrol

c) thermal, nuclear, diesel

d) all the above

EROTTROWE T Feensh

a) T ZF[o0d, BRCHF, MY

b) HoSRee, sOTew, Stineer

c) fm‘?‘é. , OB, BeSer

d) 003 20,

SPACE FOR ROUGH WORK
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53.

55.

Name the MOEFCC campaign for land use science or Forest Plus.

a) Good Wood b) Wood Good

c) Wood is Good d) Good Earth

MOEFCC soos,230ms000 3§25 08 vl wvs 0B BEI BFERN WHRRE DT
a) noE* I©* b) Jz* row®

C) [T ;1T M d) iz e

- Union Environment ministry approved projects for climate change in which

States ?
a) Rajasthan b) Gujarat
c) Manipur d) Both a)andb)

Psstorte] u&%ud AEHODHR) Brans WOERROD Odmezseﬁm 833903 oI
ToE TN BB ? '

a) TR b) rmoes*
c) 2edg)s d) a) s3:3y b) 0@

The process of introduction of weakened pathogen into a human body is called
a) vaccination

b) immunization

¢) attenuation

d) none of the above

re Setmraonvs) HDH ez, AeOR TS0t B bed Bedenrads.

a) 33

b) R Sea

c) e¥dodems”

d) Soeds anYce e
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